alphal3_4eX1X:cyclenum {run == 8002}
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cyclenum

deltad46_12X4eY:cyclenum {run == 8002}
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alpha46_4eY4aY:cyclenum {run == 8002}
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cyclenum

run:cyclenum {run == 8002}
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cyclenum

deltal3_lzx4ex

segment

|

o

o
I

deltal3_12X4eX:cyclenum {run == 8002}
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cyclenum

segment:cyclenum {run == 8002}
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usl_1X:cyclenum {run == 8002}
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cyclenum

usl_4eY:cyclenum {run == 8002}
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cyclenum
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usl_4aY:cyclenum {run == 8002}
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usl_12X:cyclenum {run == 8002}
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cyclenum

k

101160116.501170117.801180118.501190119.50120

cyclenum

usl_4eX:cyclenum {run == 8002}
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cyclenum

run:cyclenum {run == 8002}
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cyclenum
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usr_1X:cyclenum {run == 8002}

101160116.501170117.501180118.501190119.50120
cyclenum
usr_4eY:cyclenum {run == 8002}
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cyclenum
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usr_4aY:cyclenum {run == 8002}

101160116.501170117.901180118.501190119.50120
cyclenum

usr_12X:cyclenum {run == 8002}
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cyclenum
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usr_4eX:cyclenum {run == 8002}
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run:cyclenum {run == 8002}
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usl_coill:cyclenum {run == 8002}
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cyclenum
usl_coil6:cyclenum {run == 8002}
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usl_coil3:cyclenum {run == 8002}
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cyclenum

usl_coil7:cyclenum {run == 8002}
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usl_coil4:cyclenum {run == 8002}
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cyclenum

run:cyclenum {run == 8002}

101160116.501170117.901180118.5011920119.50120
cyclenum




usr_coill:cyclenum {run == 8002}
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usr_coil6:cyclenum {run == 8002}

0 H H H H * H >K H *

-500

-1000

-1500

—-2000

-2500

-3000

Y I PR PRTTE FETTE VRS FETTE PRUTE FATI P
101160116.501170117.501180118.501190119.50120
cyclenum
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usr_coil3:cyclenum {run == 8002}
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cyclenum

usr_coil7:cyclenum {run == 8002}
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cyclenum
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usr_coil4:cyclenum {run == 8002}
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cyclenum

run:cyclenum {run == 8002}
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cyclenum




1X_coill:cyclenum {run == 8002}
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cyclenum

4eX_coill:cyclenum {run == 8002}
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1X_coil3:cyclenum {run == 8002}
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cyclenum

4eX_coil3:cyclenum {run == 8002}
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cyclenum
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1X_coil7:cyclenum {run == 8002}
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cyclenum

4eX_coil7:cyclenum {run == 8002}
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4aY_coild:cyclenum {run == 8002}
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cyclenum

4eY_coil4:cyclenum {run == 8002}
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cyclenum
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cyclenum

4eY_coil6:cyclenum {run == 8002}
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4eY_coil7:cyclenum {run == 8002}
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cyclenum



o

-100

-150

-200

-250

12X_coil6
~

0 mwﬁ%
101160116.501170117.801180118. 90119. 0

12X_coill:cyclenum {run == 8002}

T K : K——K7

L L L L L Lo
101160116.501170117.901180118.501190119.50120
cyclenum
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12X_coil7:cyclenum {run == 8002}
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12X_coil4:cyclenum {run == 8002}
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cyclenum

run:cyclenum {run == 8002}
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cyclenum
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